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Mönster 1

Studera följderna av tal och försök att hitta mönstret. Vilket tal saknas?

  1 55 50 45 40 _____

  2 8 15 22 _____ 36

  3 1 10 _____ 1 000

  4 41 38 35 _____ 29

  5 _____ 15 29 43 57

  6 4 7 12 19 _____

  7 0 0,5 1,5 3 _____

  8 42 36 30 _____ 18

  9 0 2 6 12 _____

10 500 250 125 _____ 31,25

11 

   

 

12 Hur många kulor är det i
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Mönster (I)
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Mönster (I)

FACIT

  1 	 35 

  2 	 29 

  3 	 100 

  4 	 32 

  5 	 1 

  6 	 28 

  7 	 5 

  8 	 24 

  9 	 20 

10 	 62,5 

11 	 a) 9 st 

	 b) 13 st 

	 c) 17 st 

12 	 a) 14 st 

	 b) 22 st 

	 c) 30 st 


